
RATIO & PROPORTION-I

अनुपात एवं समानुपात-I
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If some amount had divided among A, B and C in the ratio 2:3:4 but mistakenly it divided in the ratio 7:2:5. 
Therefore, B losses 400rs. Then find total amount? 
यदि कुछ रादि को A, B और C के बीच 2:3:4 के अनुपात में दिभादित दकया गया था लेदकन गलती से यह
7:2:5 के अनुपात में दिभादित हो गया था। इसदलए, B को 400rsकी हादन होती है। तो कुल रादि ज्ञात
कीदिये?

1)1050
2)2100
3)3300
4)NOT



If the sum of two numbers is 42 and their product is 437, then find the absolute difference between 
the numbers ?
यदि िो संख्याओं का योग 42 है और उनका गुणनफल 437 है, तो संख्याओं के बीच पूणण अंतर ज्ञात
कीदिए?

1)4
2)6
3)8
4)12



The difference of two numbers is 11 and one-fifth of their sum is 9. find the numbers?
िो संख्याओं का अंतर 11 है और उनके योग का पांचिां दहस्सा 9 है। संख्याएँ ज्ञात कीदिए?

1)28, 18
2)28, 17
3)13, 25
4)25, 22



If A, B and C together can complete a work in 20days. They started the work and after 4 days C left the work 
and remaining work will be complete completed by A and B in 40 days then find in how many days C alone 
complete this work?
यदि A, B और C दमलकर एक कायण को 20 दिनो ं में पूरा कर सकते हैं। उन्ोनें काम िुरू दकया और 4 दिनो ं
के बाि सी ने काम छोड़ दिया और िेष काम ए और बी द्वारा 40 दिनो ं में पूरा दकया िाएगा, तो सी अकेले
इस काम को दकतने दिनो ं में पूरा करेगा?

1)50
2)33 1/3
3)40
4)NOT



13 × 24 × 35 × 46 × 57………× 2729 find the number of zeros?
िून्य की संख्या ज्ञात कीदिए?

1)97
2)112
3)124
4)NOT



48 litre of Glycerin is mixed with 144 litre Rose water. D litre of total mixture is taken out and 32 litre Glycerin 
and 48 litre Rose water are added in the mixture. The final mixture contains 30% Glycerin, find the quantity 
of the mixture that is taken out?
48 लीटर ग्लिसरीन में 144 लीटर गुलाब िल दमलाया िाता है। कुल दमश्रण का D लीटर दनकाल दलया िाता
है और दमश्रण में 32 लीटर ग्लिसरीन और 48 लीटर गुलाब िल दमला दिया िाता है। अंदतम दमश्रण में 30% 
ग्लिसरीन है, दनकाले गए दमश्रण की मात्रा ज्ञात कीदिए?

1)24 litres
2)32 litres
3)40 litres
4)20 litres



If a = 2.234, b = 3.121 and c = –5.355, then the value of a3 + b3 + c3 – 3abc 
is ?

1)–1
2)0
3)1
4)2



If x2 + y2 + 1 = 2x, then the value of x3 + y5 is ?

1)2
2)0
3)–1
4)1



The perimeter of two similar triangles Δ ABC and Δ PQR are 45cm and 30cm respectively. If PQ = 
16cm find AB ?
िो समरूप दत्रभुिो ं ABC और PQR के पररमाप क्रमिः 45 सेमी और 30 सेमी हैं। यदि PQ = 16 सेमी
है, तो AB ज्ञात कीदिए।

1)20 cm
2)22 cm
3)24 cm
4)26 cm



In the given figure, ∠ONY = 50° and ∠OMY = 15°. Then the value of the 
∠MON is ?

1)30°
2)40°
3)20°
4)70°



If (x – 1) and (x + 3) are the factors of x2 + k1x + k2 then ?

1)k1 = –2, k2 = –3
2)k1 = 2, k2 = –3
3)k1 = 2, k2 = 3
4)k1 = –2, k2 = 3



100 Men were employed to finish a work in 180 days. After 60 days it was found that only 1/5 of 
the work was done. How many more men must be employed to finish the work in the stipulated 
time ?
एक कायण को 180 दिनो ं में समाप्त करने के दलए 100 व्यग्लियों को दनयुि दकया गया था। 60 दिनो ं के बाि
यह पाया गया दक केिल 1/5 कायण ही दकया गया था। दनर्ाणररत समय में काम खत्म करने के दलए दकतने और
पुरुषो ं को दनयोदित दकया िाना चादहए?

1)100
2)200
3)300
4)150


